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General Knowledge

is NOT appointed by the President
of India?
(A) A Judge of a High Court
(B) The Advocate-General
(C) The Governor
(D) The Attorney-General

Name the first Indian state where every
household has at least one member having a

bank account. Jdaobr

W W B0

(A) Maharashtra

(B) Haryana

(C) Himachal Pradesh
(D) Kerala

Select the duct which takes the urine out
from the urinary bladder to the outside of
the body.

(A) Urethra

(B) Ureter

(C) Bladder

(D) Renal pelvis

(PAWIVIN A" e P

,Q4

National Education Day is celebrated on
every year.

(A) 27th October

(B) 4th March

(C) 17th September

(D) 11th November

The GST Act was enacted by Parliament vide
the Constitutional Amendment Act,
2016 on 8th September 2016.

(A) 97th

(B) 84th

(C) 101st

(D) 114th

Which of the following districts belongs to
the Bundelkhand region of Uttar Pradesh?
(A) Fatehpur

(B) Jaunpur e Loy o
(C) Mahoba =~
(D) Shravasti

Ql

Q3

Q5

Q6

I ATE] @l ol 87
(A) SeaaH IR & ~Tame

| (B) wetelgaar |

(C) <roauTa
(D) AEFIRIETE

ggel RO WSg &1 A/ 9arsy e
TA® URAR ¥ &9 § F UF Ga™ B U

e Eacini R
(A) HBRTS

(B) sRamom
(C) Remae wewr
| (D) v |

T qIfe BT TIT BN Gl R W G B
R @ IR o SR 2

(A) SVRRT

(C) =i

(D) ¥t ufeaw

(A) 27 3IFcaR
(B) 4 #rd

(©) 17 Rudar
(D) 11 da%

9T BT 8 RUdar 2016 @ oo,
dRum e afRfm, 2016 & 8d
shewd) aiferferem uiRa favar T

(A) ord

(B) 844

(D) 114 .
71 # B |1 el IR we @ gaores
&5 9§ Haford 87

(A) PUEYR

(B) SiFYR

(C) Harar

(D) STawl
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The area of Uttar Pradesh is approximately Q7
_of the total area of the country.

(A) 13.5%

(B) 9.4%

(C) 84%

(D) 73%

During the sixth century BC. the area around Q8

Mathura was known as

(A) Panchal

(BY Ang

() Shursen

(1) Mateya

Which romantic-poetry writer was well 09

known for his work entitled ~Madnastak ™

(A) Rahim

(B) Malik Mohmmad laist

(C)Y Zia-ud-din Barm

(D) Sultan Firoz Tughlag

ad i

Who was the editor of Uttar Pradesh’s first

010

SN Yo P el <A D Bl AAGA BT -
....................... 1
(A) 13.5%
(B) 9.4%
(C) 8.4%
(D) 7.3%

podl Il $91 gd B IRE W1 B

(A) et

(B) &

(O aw= ]
(D) "1

s # @ fre SEFT I oG B SHDY
P FeATEE B Y ST S 87
| (A) =& |
(B) #f™r WigFTe ORI
(C) o —ag -4 9v il
(D) ol fbei qerh

IR go9 § ygell 9 1887 H W B
daily newspaper “Hindustan™ published in g0l 2fe wER “figwET @ wHued
18877 DI 2f?

(A) Mahabir Prasad Dwivedi (A) 7R yare fRad

(B) Padumlal Punnalal Bakshi (B) U=TATA gAtertel aesil

(C) Madan Mohan Malvixa | (©) wes Aes wada |

(D) Bhartendu Harish Chandra (D) ARG BReEs

In which year was it made legally binding to Q1 IR ye¥ ¥ g ad il W FT B
use Hindi in all official works in Uttar fog RS &1 wanT & HEE AR W
Pradesh? ferard R & T ar?

(A) 1947 (A) 1947

(B) 1957 (B) 1957

(C) 1968 (C) 1968

(D) 1977 (D) 1977

Which of the following was a major painter Q12 fs # & IR & <R & Y& faHdR
at Akbar’s court? B A?

(A) MirMusavvir (A) AR gEfar

(B) Dost Muhammad (B) aRd YW

(C) Daswanth (C) <qad

(D) MirSyyad Ali (D) ¥R =g el

(<) nit Mg /'8
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was a prominent musicians of
Faizabad who developed the Tappa style in
classical music.
(A) Mustaribai
(B) Khushi Maharaj
(C) MehndiKhan
(D) Thakur Prasad

Which of the following is a popular folk song
of Bundelkhand?

(A) Birha

(B) Alha

(C) Rasia

(D) Languria

Which of the following rivers joins the
Karnali river at Brahmaghat in India and form
the Ghaghara river?

(A) Rapti

(B) Gandak

(C) Sharda

(D) Sarayu

known as “Yellow Cake™?
(A) Plutonium

(B) Uranium

(C) Thorium

(D) Aluminum

Which of the following celebrities received
India’s second highest civilian award in2018?
(A) Ghulam Mustafa Khan

(B) Sharda Sinha

(C) MS Dhoni

(D) Pankaj Advani

Who was recently appointed as the first
Director-General of the National Testing
Agency(NTA)?

(A) Rajesh Kumar Chaturvedi

(B) ‘Joseph Emmanuel

(C) Anita Karwal

(D) Vineet Joshi
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[(A) vt T |

(B) Gt #ERIt

(C) #ES @A

(D) aTHY g¥Te

FefoRag 4 A deaws &1 Fiafa
o A @ra ar 22

(A) favgl

(B) aNegl

(C) 3Hay

(D) e[

=1 # A e @ A |Ra T geaae o
ATl A4 B el & 3R gy gl a9
ST 87

(A) 1%

(B) TgH

(D) ¥R,

Y I L e

TRQI6 P A e e @ e e

Which of the following minerals is also

Fr B?

(A) GeIfrm

(B) afam

(C) 2ATNIH

(D) veyAfm

= | 9 fopw favama @fdg 3 2018 7 sIRa
hT CRI WA gl AFTRE FH ure fhar?

(A) oIt HqIADT W11

(B) YIRQT ™¥=T

(C) w1 T dF
(D) Y&ral amedrof)

AL T TolRil (U @) U) & usd
HEIReIs & qeg uv g1el 8 # fhwre fgfaer
gd 27
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(B) SRI% HIUa

(C) 3T Hare

[(D) fafia et |
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Q20

Q21

Q22

Q23

Q24

The G20 Summit will be held at in
2018.

(A) Riode Janeiro

(B) Buenos Aires

(C) Mexico City

(D) Istanbul

In 1825, who founded the Vedanta College
in which courses both in Indian learning and
in Western social and physical sciences were
offered?

(A) Aurobindo Ghosh

(B) Ram Mohan Roy

(C) Ishwarchandra Vidyasagar

(D) Swami Vivekanand

Which of the following country is known as
Ceylon in Past?

(A) Maldives

(B) SriLanka

(C) Mauritius

(D) Suriname

7,000 km by the opening of canal in
1869.

(A) Panama

(B) Kiel

(C) Suez

(D) Volga-Don

Who was one of the chief guests of the 2018
Republic Day parade?

(A) Bidhya Devi Bhandari

(B) Maithripala Sirisena

(C) Sheikh Hasina

(D) Aung San Suu Kyi

‘Which of the following e-commerce

companies has signed a pact with
Government of Uttar Pradesh for the sale of
Khadi Products?

(A) Flipkart

(B) Snapdeal

(C) Amazon India

(D) Paytm

Q19

Q20

Q21

G20 @ 9% 2018 H ... H 8RN |
(A) R &1 s=iRar
(B) &gAd AIH

(C) afaa i)

(D) g¥iige

1825 ¥ IgidT Dictel P YT foae @,
o S aRd semaE e gaTe
e qer N s seums wga ¢
fopar rm er?

(A) srfder o
[(B)-=m A1eT 1 |
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(D) @I o
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(B) e

(C) ARIE™
(D) T
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(A) T

(B) &I
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(B) #Amrerm R
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(A) freruemrd
(B) FUS
(C) 3P grsan
(D) wErgH
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Which of the following was a scientist as well
as a great industrialist who founded many
industries in India?

(A) CV Raman

(B) JC Bose

(C) Vikram Sarabhai

(D) Homi Jehangir Bhabha

Who is the author of the book “A Better
India: A Better World™?

(A) Kiran Bedi

(B) NR Narayana Murthy

(C) Sudha Murthy

(D) Shashi Tharoor

Who among the following players, was NOT
involved in the ball-tampering issue of the
recent South Africa-Australia Test Scries in
20187

(A) David Warner

(B) Steve Smith

(C) Tim Paine

(D) Cameron Bancroft

The boiling point of water in Fahrenheit is

(A) 100°F
(B) 212°F
(C) 150°F
(D) 244°F

Which of these is NOT a plantation crop?
(A) Coffee

(B) Teca

(C) Cashew

(D) Millets

By which other name is the pulse “tur” also
known as?

(A) Arhar

(B) Jowar

(C) Masoor

(D) Ragi

=1 3 Q B9 ve dHD B B -
ver HRM SERTaRT o O R uRT § 3
eIt @Y Rerger @I1?
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(B) ©f ¥ &9
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(D) %1 9T
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Alan is used to measure the force
and velocity of wind.

(A) speedometer

(B) lactometer

(C) thermometer

" (D) anemometer

When is National Hindi Day observed in
India?

(A) 14" September

(B) 14" November

(C) 14" December

(D) 14™June

Article 6 of The Universal Declaration of

Human Rights deals withthe ______

(A) Rightto Recognitionasa Person before
the Law

(B) Right to Remedy by Competent
Tribunal

(C) Freedom from Arbitrary Arrest and
Exile

(D) Right to Equality before the Law o - _

Where arc the headquarters of the National
Stock Exchange situated?

(A) Chennai

(B) Delhi

(C) Mumbai

(D) Bangalore

The Union Government of India has decided
to declare 2018 as National Year of

(A) Fruits

(B) Pulses

(C) Potatoes

(D) Millets

The is a colourful and mesmeric fair
which is held a few days after Holi, every
year in Meerut in Uttar Pradesh.

(A) Kumbh Mela

(B) Nauchandi Mela

(C) Ganga Mela

(D) Sikri Mela

Q32
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Q34

Q35
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|(D) TR |

Wﬁﬂ%ﬁﬂ%ﬁﬁ?ﬂ?ﬁwwg
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(A) 14 Foae

(B) 14 O
(C) 14 FHax
(D) 14 G
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Who discovered the antibiotic penicillin? Q37 ¢Aerifes ofafafors @ @t e @
(A) Archimedes e
(B) Alexander Fleming (A) 3nfpiEs
(C) Alexander Graham Beil (B) Jdguisy gl
(D) Louis Pasteur (C) Jciddsy Uigd 4w
(D) efg URTR
______of'the Constitution of India provides Q38 WG WREE & TR TURTSY
a list of official languages of the Republic of & anforeRe ATl @ gl wET Bl
India. 2l
(A) The Eleventh Schedule (A) TIREdl
(B) The Fourth Schedule (B) arRf g
(C) The Twelfth Schedule (C) arad! IFgAl
(D) The Eighth Schedule (D) CIGCIRG Rl
General Hindi
uel g g T 81 — @ifda e @ Q43  @H-wl e wEal fERiE 87
gafgard s T8 8- [(A) sl — s |
(Ay dH (B) SR — AR
(C) @ (D) fFa — Ae®
(D) -
Q44 & ufifee i TR dAl =Ry | ifd
[ geTEy | (A) Suw
[ v
CE] (C) ud=r
(C) 3rurfest (D) BRH

(D) Rwrdt #18 4 &

Prafafed el § & SF—a1 I IRl
TE B
(A) THE
(B) 3rd
(C) HETdR
(D) &

T TR SR U B — @ forw U@ @)

Q45 T — o1sg § BT UIY 87
s fir
(B) 39
(C) 3™
(D)

A=
Q46 _uRI + g &1 €Y U 8
YeITHTd
DECER &
(C) wairarerd
(D) wdiamere
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Q47 wEmy vz o W e wifdg,
(A) FET + 3w
(B) ugi + 3imf)
[ ©) 77 + aiwd |
(D) 3@ + el

Q48  FERIRa wesii § 9 dd weg &Y gAY |
(A) uTsTY]

B) ®30T
|{él Ralkil

(D) Tef

Q49 f=fafes o @ w9 T IYE 87
(A) a7+ Ag) T

(B) Twar e 81w § |
(C) a1 g¥ ®icial o 817

(D) 3 T vl =gl e B |

Q50  H 3 Wi B AF TRl B E | A A
W iy |

(A) 39

(B) 3T

(C) @A &1

(D) H1 72 Bl & |

Q51 a2l fba yeR &7
(A) @9
) 7N
© &
(D) B¢ UHR &l

Q52  gi@ @Y TS dRA B forg R wae
fepar oTaT & S8 e B
(A) 3reg fawm

Q53 Wi @ & 97 garEs FE I TGN
- R YaifeT gEwe o 4 T BN |
[(A) sg woa sa1 | '
(B) QUt(’ m VN
(C) 7g & fdsar v |
(D) a8 &) Fiam vRge |
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Q54

-Q55

ya.4h

Q58

3495 ﬁm: Q6

(A) fafdre 3R wMrg afdd &t gonr

(B) &F qU&ae 8MT

(C) A e & RWERT 9 SorFl

(D) o

SR @ B av Bl aR-aR g B
quf IABR BN |

(A) gHE

By I

(C) 98
(D) TTHT

S ATS 99 BT &1 Uddd avor §
AT Bl € 99 FEd ©

(A) dTE

B) T8l
(C) HraT

(D) el
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Q61

Q63

Q64

Q65
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frefeRag wrgt A ¥ ENfeT s @
g1y |
_;)()W
(B) 7Rd

(C) ¥Ha™
(D) if¥a=in

fopmiferRaa & & P—ar wrer |el T8l 87
(A) 9 — afewi

| (B) fsfear — 4T |

(C) AT — ST

(D) g — g

frforRed areal § Q WeUES At ara
I TEAIN |

(A) M @FT @R 2 |

[(B) e @1 eer agd dul qrear w1 |
(C) X1 7 GuT BT ART|

(D) ¥ 3O g2 B ARG B |

Preiforfag wreat ¥ & fRwor @) wgmfg) __
JODriva. Ram fawfs & R @ g 1913 7 5%

CRYGELED

(B) SURT
(C) 3mgar-
(D) 3TdeT

ST el U 5T T Herd URemeie w9
Fa1_ErT?

@) ST

(B) wTTar
(C) SITamT
(D) ST

frferRad @it § J qof acHre Biet Bl
e HIFY |

(A) 3@ 89R U+ B FHI B AT 8 |
(B) d8 U@ oil <&l

(C) g8 Ue¢ Vel «T|

(D) # TTEY W |

R G 7 @ AT AR H Bl B
[SERESEE

(B) T [

(C) W

(D) 3~ Md

Q67

faforfRed wqie & gar Y8 MU U
(Q67 - Q71) &1 Ik fafdrg—

HRA &I TG qgmar TerHmar H§ sl
IR BT WIF AT & | IS Silgq dad
RUNGRY | SFABT O 7 AY 1861 @
FHolbadl & T el aRa # g3 o |
S% faar &1 9 IqvsER SR AR B
M YRR o | S5 fUdl gen aNl @
AT A T HEM $fA, HEFIGR, HahR,
fraeR, Gfiaer, AehdR UF Hed M
| I 8 Wl P B ¥ H HAar
Rt o, BrgeiiaTer, ARCY Higd, URe HRER
SRf areiwelt dwifrar &9 € 81 @ 1878
¥ BT A gerg B fore e My AR
wifgeruf dgAreret 1880 # fa= wurfer
(Rexf) forg amas am WY | wHl & U @
ARl 3 wiffNea S e @ |
16 JAEEY 1905 BT STID Aged § DHerdbadl
¥ veEy & Soqd o -1 AT/ Bl
IRAT garT | ¥ TR | WRd H el
IR BT GAUTT AT STd1 Fa el (i

e REBR Y& a1 TAT| 6 1919 §
@, e e gaer Mg o 5 Sl
1gC g8 IUIY ciler & | HRA BT IS
T U A9 U4 gRATeRT @ MR Al
MR WER 9 9@ 8 @ 8|
FIAE yferT EHaTe Rdgrel @
e 7 SR 1941 W b H OgATI
IHT AT Had U yaed 8|

?ﬁgﬁf@a‘ﬂ SuIfey ¥fa=g=ier % 7} drern:
(A) 92 a8 Suifr el o ol |

(B) Sifergiaredl a1 gedldbrs o, [aue H
Alerly o |

(C) -7 & = & fave A
(D) fafeer o A S @ &
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Q70
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e SR B B T BT A
YIEHR U1 g3’

(A) digciidrell

(1B) Hitex ¥igd

(C) IRE HNex

[(D) Fawter

GiTEraRl &R BT W dd 3N BEl g3
¢

(A) 7 |E 1861 H Peidedll o

(B) 2 3fdcax 1861 # TuiRId 4
(C) 14 QR 1869 ¥ gEATRMEE H
(D) 5 Rycwar 1889 H ITR ¥eyl H

93 fdr PlA—a Gut & T 2?

(A) geH v L

(B) 3md g4
(C) HeTis TH
(D) HF®T fAgE-

S AT A AN B DI E
[(A) w@mme Sor ]

(B) ddbl¥f diq

(C) eRawRma aea-al]

(D) TR AR,

Q72

Q73

Q74

Q75

PyeiferRaa @il 3 & TRAC A 5w oft
B TS BT wEE e

(A) Feredl T

(B) Sa¥d? TS

ko) e @ |

(D) gH=a ud

e SUFTH W e g fiben @ g9
F | IURTBR BT @1 A 2 |

Jersiact
B) YRdd ISIYrRATd
(C) gHdR WRA!
(D) s ol

SISy & aR dF 87

[(A) srreims wemest |

(B) Herad) i
(C) e FFurd
(D) gfH=ed ud

FF- oA gerdrerash B TE &7
(A) SR

(B) Marael!

(C) RrdaRd A

(D) aT

Numerical & Mental Ability

Rashid can complete a job by himselfin 15
days while Kausik can do the same work
alone in 21 days. If they work together how
many days will it take them to complete the

work?

3
8=
(A) &3

1
(B) 91

|
© 3;

.3
—_

Q76

woire fpdlt HT a1 el 16 fadAT # IR &N
HAT & A PD B SW P BN R
e 3 21 2T I & | U 1T B X
qx Sl T ST B B g Fed H fdar
fa1 o |dHd 87

3
(A) 31

1
®) 93

1
(©) SZ

3
(D) 97
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Q77

Q78

Q79

A ship developed a leak 15 km from the shore
and yet could travel towards the shore at a
speed of 10 km/hr for a maximum time of
18 min. A rescue vessel that was immediately
sent from the shore to rescue the passengers
would take 6 min to complete the rescue
once it reaches the ship. What should be the
minimum speed of the rescue vessel in order
to be able to successfully evacuate everyone
onboard the ship?

(A) 72 km/hr

(B) 70 km/hr

(C) 68 km/hr

(D) 65 km/hr

The length of a side of an equilateral triangle

is 21 cm. what would be the approximate

area of the circumcircle of the above triangle?,

w |
v

22
[Usen= £l ]
(A) 154\5 cm?
(B) 462 ﬁcml
(C) 462 cm’
(D) 484 cm’

Zubin and Pravin can individually complete

a job in 36 min and 60 min respectively.

~ Starting with Zubin, they work alternately

for aminute each till the work is completed,
only the one working at the end allowed 0
work for less than a minute in his final turn.

How long will it take the duo to complete

the job?

(A) 45 min

(B) 44 min48s
(C) 44 min45s
(D) 45min 125

Q77 < ¥ 15 fHairey & g0 W fHA1 SEr

Q78

Q79

H B Sca~1 8l 11 9 By A ifdreay
18 e &7 3@fer da ds Wigml,
fherier /ufa €2 @ dofl 4 de @&l 3N
AT B Al AT| dc F T S die
qdIg I1d Pl, STETS b Ugd- & q18 anfar
@ g9 8 6 fAe & | ST8Ie W SufkerT
qard dd &1 gFaq T @1 g afer?

11V]

(A) 72 fhadAnieR /|d

(B) 70 fenier /ue
(C) 68 fdeinfler /e
(D) 65 fdhetnilex /e

U WFETg vl @ Y ST Bl ddIg 21

- e B SWRIed e & aRgd @

& S I BT

[n.'zszmfmﬁj

(A) 154 f3 Fdes
(B) 462 3 &M

(C) 462 HMEew

(D) 484 HEHEL

Sfad ofiv ydlor wHer 36 He 3R 60
e & &l & & g3 e a2
JfaT | P H¥ §U d B9 Y1 B
dafoas wu A UP fAvfe 8q oM i &,
3T W TR B arel B Al AU i a
HUp M @ B9 a9y g B B @l
JrgAfd ure 8| &Il 1 b Y- PR A
foaar a7 @ir?

(A) 45 fiFe

(B) 44 fiFT 48 Ads

(C) 44 faFe 45 JAdbe
(D) 45 fiFe 12 9ds



Q80 Govinda usually leaves his home every day

Q81

i

Q83

Q84

at 8 am and travels at a certain speed to reach

4
office on time. One day, he travelled at 35 of

the usual speed and hence arrived 22.5 min
late. How much time does Govinda usually
take to reach his office?

(A) 1hr15min

(B) 1hr20min

(C) 1hr25min

(D) 1hr30 min

Select the option that is related to the third
term in the same way as the second term is
related to the first term.

Saffron : Spice :: Apple :

(A) Vegetable

(B) Fruit

(C) Stem

(D) Root

‘Saliva’ is to ‘Salivary Glands’ as ‘Bile’ isto,

& 3

(A) Stomach

(B) Liver
(C) Pancreas
(D) Lungs

* * is to ‘Celsius’ as ‘Mass’ is to
‘Grams’.

(A) Heat

(B) Humidity

(C) Energy

(D) Temperature

In a certain code language, MUMBALI is
written as NTNABH. How will KANPUR
be written as in the same language?

(A) JBMQTS

(B) NAKRUP

- (C) LZOOVQ

(D) LBOQVS

Q80  wifdaT AT ufiy fort o B < e ¢

J

. U

Q84

o Prverar & qoT THY R BrAer TEA
¥q Pftaa TR W IET AT F | T fAE

aﬁw(ﬂm)?r%zh—:-nﬁfﬁm

el & @R 2250 fFre 1 2 {1 ugdd
2| wFae: Mfde & EiEd ggad 3
fpeT w9a ol 87
(A) 1der 15 fame
(B) | der 20 e
(C) 1 Het 25 e
[(D) 1 &er 30 e

39 fimey &1 9a+ B o deN U8 9 S
g ddfdd & R yHR THI 98 UEe Ig
q GEfeeT B |

HET : AATEAT ¢ - U

A) el

(C) a1

(D) v

AR @AY @R AR 2, ¥ YeR
D RGO R: [ [ 1 S ‘Rl
@A) T

(B) R

|©) sr=mem |

(D), %S

R s fIfEd Gaa—wren H, T
MUMBAI @1 NTNABH forar srar 8,
9 KANPUR @1 o¥ @Ts o @ forn
SICT?

(A) JBMQTS

‘R) NAKRUP

|% L.ZoovQ |

(D) LBOQVS




Q85

Q86

Q87

Q88

Q89

Q90

‘Cake’ is related to “‘Oven’ in the same way
as ‘Ice-Cream’ is related to * ’

(A) Filter

(B) Non-stick Cookware

(C) Refrigerator

(D) Cooker

‘Meghalaya’ is related to ‘Shillong’ in the
same way as ‘Nagaland’ is related to
(A) Daman

(B) Itanagar

(C) Kohima -
(D) Dispur

‘100" isto ‘Century’ as ‘10’ isto
(A) Ten

(B) Fortnight

(C) Week

(D) Decade

What will come next (in place of *?”) in the_

given series?
D4X24E5H8T20L.?
(A) 18

(B) 26

(C) 12

(D) 7

How many ‘M’s are immediately preceded
and followed by ‘N’ in the following series?
MNNMNNMMMNNNOOMMM
MNNMMMTTMNMNMNMN
(A) 3

(B) 5

©) 7

(D) 4

What will come in place of the question mark
(*?") in the given series?

© 21U13M22V18RYS

(A) 22
(B) 25
©) 19
(D) 18

Q8

DF, AT | I USR et 2 o
YhR gD, S et R
(A) e

(B) H—Re® Hadax

(©) Mhorer

(D) BIY

e, R | S yeR wata @ fora
YBR ARTAVE’, oo ‘] Hafdd B
(A) &5

(B) $TR

(C) pifem”

(D) TedigR

‘100 PT HIcTd TP 8, S JHR 10" &
HAAG oo "B

ﬁmﬁf@amﬁmﬁ(?)$wwzﬁ“m

. & e amgfy?

D4X24ESH8T20L?
(A) 18
(B) 26

©) 12

(D) 7

PrerferRad s 3§ R M U9 & R
TRT UBa! 3R TR 918 H N’ 8?

MNNMNNMMMNNNOOMMM
MNNMMMTTMWM_%N 3}

(A3

(B) 5
©) 7
(D) 4

t/ﬁqﬁﬁaﬁaﬁ,mﬁ(“?’)a%wwaﬁﬂ
A weEn e

21UI13M22V18R?S
(A) 22
(B) 25

©) 19

(D) 18
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Q9l

Q92

Q93

Q94

QY35

If GOOD = 41, then BAD =?
(A) 6
(B) 12
() 7
(D) 10

Q91

IfACTIVE = 60, then PASSIVE =2 Q92
(A) 100

(B) 80

(C) 91

(D) 55

Q93

If in a certain code, Silk is written as
1991211, then what will Cotlon be written
as in the same code?

(A) 31514152020

(B) 35201201514

(C) 32015152014

(D) 31520201514

WA

A clock is showing the time 1:40. If the Q94

* minute hand points to South-West, in which

direction does the hour hand point?
(A) North-East

(B) South

(C) North

(D) South-East

Amal and Subir were standing face to face Q95

fd GOOD =41, @ BAD=7?
(A) 6
(B) 12

Q7

(D) 10

afe ACTIVE = 60, @ PASSIVE =7
(A) 100
(B) 80

(Cy 91

(D) 55

afe v PfdEa woa—fafd 4w Silk’
El ‘1531‘31%7%@1 ST &, d1 et ‘Cotton’
F1 I Fre § dy fa@r se?

(A) 31514152020

(B) 35201201514

(C) 32015152014

(@) 31520201514

o B 140 991 T WA fan W@ R AR
firre @ g3 <Ro-afem @ v g
axd & g A ud fw faem @ ok
2 wll?

in the evening and chatting. Their shadows

were in front of Subir. Which direction was

Amal facing?

(A) East
(BY West
(C) North
(D) South

(A) SER-Gd
(B) <fémr

(C) SR

(D) wféror — qd

e iR AR WM B T U R D
A @2 BER AR Y ® ¥ | SDl B
qiR B anr off | e fra R # SR
T8 XD WSl Al?

(A) o

@B) ufFem

(C) ST

(D) =faror

e el P



6

97

98

Consider the given statements to be true and
decide which of the following conclusions
logically follow(s) from the two given
statements, disregarding commonly known
facts.

Statements:

Some crows are pigeons.

All the pigeons are peacocks.

Conclusions:

1. Some crows are peacocks.

11. No peacock is pigeon.

(A) Only conclusion| follows.

(B) Only conclusion II follows.

(C) Neither conclusion I nor I1 follows.
(D) Both conclusions I and II follow.

Consider the given statement and the

following assumptions to be true and decide

which of the assumptions is/are implicit in

the statement.

Statement:

Save non-renewable sources of energy for

the next generation.

Assumptions:

I. The next generation will have no
renewable sources of energy.

I1. Ifnon-renewable sources of energy get -

exhausted, the next generation will not
be able to use them and will have to
think of alternatives.

(A) Only assumption I is implicit.

(B) Only assumption I is implicit.

(C) Neither assumption I nor Il is implicit.

(D) Both assumptions I and Il are implicit.

Consider the given statement and the
following assumptions to be true and decide
which of the assumptions is/are implicit in
the statement.

Statement:

Like poles repel each other; unlike poles
attract each other.

Assumptions:

1. Magnetic objects of similar pole repel
cach other.

Il. People of opposite nature remain more
intact.

(A) Only assumption I is implicit.

(B) Onlyassumption Il is implicit.

(C) Neither assumption I nor Il is implicit.
(D) Both assumptions I and Il are implicit.

Q96

Q97

Q98

fqu 7o el W fER B 3R, wEEd
ST TRAT @I ARG PN §Y, I8 aU
mﬁﬁiﬁﬁﬁ%ﬁﬁ—wﬁﬁﬁﬁgﬂﬁmw
a1 Bl BT THETT ®Y I YTl BT B |
P

GO B g |

) =

A ,

| &% Pd AN B

Il P AR SR d F

[(A) ®aa fAspy | qier Bl & |

(B) @ddl [\shy I Glef-i Rl

(C) 1 a1 forepd 1 3R AT & fmpd 11 drer

el & |
(D) fesy 1 iR frepd (1 SFT & e
H B |

fay o P R FrefeRad aronsi @1
8 wsl o vt o [ s 3§ dF )
4RO / 9RMY Saffed 8/ |

FHU:
Soft @ R—AdHRTg Bl B 3T 9

@ forg 9= |

HRUT -

I arreh B @ U Wi b1 BIg
FdiepRoila T T8l 8F |

gr A HEAr 860
lfm'ﬁmxmﬁﬁa%l
(B) gRon i Sier=ited %‘||
(C)gw’r'anwrlfﬂ saffed
|
(D) eRom 1 air e 1 2 sfaffea 2

fav w7 oM oiR Frffa aRomsi @
a2 gael 3R fofa o fb e & 1 W
HIRYTT / FROMT Sfafifgd 8 /2 |

B
wondia @ TP g B s wva g
T ga T g P BT I T

RO _

1. EOIdR ga @) gedy awqu U quR
) fafia o=l & |

1. faod upfa & afd e swefoor
& B

(A) Bde g 1 Ifafifed 21

(B) dad RN 1 3fafHfRd &1

(C)g’lfﬁﬂ'{?"ﬂlmﬁmll_ﬁﬁﬁ%ﬁ
|

(D) sRom 1 3R s 11T sfafifea 8
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Q99

Q100

Q101

Q102

Q103

Which of the following is NOT a composite
number?
(A) 133
(B) 433
(C) 533
(D) 833

Select the most appropriate option to solve
the equation.

105+15x(38—-8+5)+3=

(A) 7

1
®) 33

© 1.4

1
(D) 105

Select the most appropriate option to solve
the equation.

1.8 + 1200 =

(A) 0.15

(B) 0.015

(C) 0.00015

(D) 0.0015

Select the most appropriate option to solve
11 33

the equation. 3 56

1
) 33
1
®) 75
1
© 33

1
2
(D) 23

What is the HCF of 54, 162 and 189?
(A) 27

(B) 9

© 3

(D) 1

(@rraifore Far) =TEl 87
(A) 133
(B) 433
(C) 533
(D) 833

Q100 fr=faRad Tl &1 wed S

ferepTed |
105+15x(38—-8+5)+3=
(A) 7

1
(B) 35
) 14

!
(D) 105

Q101 Frfafa w¥eRor &1 ga FdbTe 89

walts Sfed fawey &1 a9 TR |
1.8+ 1200 =

(B) 0.015
(C) 0.00015
(D) 0.0015

Q102 fm=fRea wiieor @ ga Fde &

Hﬂﬁ?ﬁﬁﬁ'ﬁﬁﬂﬁqiﬁ[wﬁli‘ 52
I
1
) 35
1
®) 73
C) 3+
© 33
Dy 24
(D) 25

Q103 54, 162 UG 189 &I HEwH HHIIATE

/T 87
(A) 27

(B) 9
©) 3
(D) 1

———— -

I,

Q99 TmferRaa § & & A1 fAwey wog Q104 )

{
|



rawe

¥ Q104

Q105

Q106

Q107

Q108

Q109

What is the LCM of 64, 128 and 160?
(A) 320
(B) 384
() 512
(D) 640

If 84 is divided in the ratio 5 : 9, what is the
greater of the two parts? )
(A) 54
(B) 63
(C) 57
(D) 48

Ifx:16:63:36,thenx=
(A) 20
(B) 24
(C) 28
(D) 30

Rishi secured 66 marks in a test out of 735,
What was the percentage of marks obtained
by Rishi? inl
(A) 84
(B) 88
(C) 87.3
(D) 90

Irene suffered a loss of 12% by selling a mask
for T 308. At what selling price would she
have made a profit of 10%?

(A) T 396

(B) T363

(C) T374

(D) T 385

After a discount of 15% on the marked price
of a set of pens, it still cost the buyer X 1,751.
What was the marked price of the set of
pens?

(A) T2,025

(B) 2,000

(C) 2,060

(D) T 1,989

'alal®
AWV,

Q104 64, 128 Td 160, T YT HAIAR (TRITT)

T 87

(A) 320
(B) 384
(C) 512

Q105 uf 84 @1 5: 9 & Irqura # fmforar fesan

ST &, T €191 9T H | DI 91 9T g8l
BIIT? :
(A) 54
(B) 63
(C) 57
(D) 48

Q106 afe x: 16 ::63: 36, T x=

(A) 20
B) 24
(C) 28
(D) 30

Q107 =M A fael wliem § qat 75 b H 66 3D

WM|ﬁﬁ§mm§maﬂwﬁm

S iR
ELLENDY:

(©) 875
(D) 90

Q108 29 3 e @ R 2308 % @, Rrad

IV 12% @ g g2 | e wug A fam
FE. W SH 10% P A W BNl

(A) T396
(B) T363
(C) X374
(D) ¥ 385

Q109 oM & We @ JHfd qou W 15% P B

wd B ) N @leer @ X 1,751 3
Fme gEr TS| Hen B Ae B Afdd
Hed g1 AqT?

(A) 2,025

(B) ¥2,000

[(C) 22,060 |

(D) T 1,989
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Q110

Q111

Q112

Ql13

Z 1,800, invested for 5 years at 8% simple
interest per annum, will earn an interest of
4

(A) 720

(B) 750

(C) 630

(D) 675

What would be the interest accrued in two
years on < 300 if the sum is invested at 10%
interest compounded annually?

(A) T60.50

(B) T60

(C) ¥61.50

(D) 63

Suhas and Nitin invested some money in a
businéss in the ratio 8 : 3, but Suhas withdrew
his money after a few months. If the end-of-
twelve-months’ profit was shared between
Suhas and Nitin in the ratio 5: 4, for how

many months did Nitin alone invest?
3
5=
(&) 53

3
6—
®) 63

3
© 53

5
6—
(D) 63

The average marks obtained by 5 students is
55. The average score of the top three
performers out of these five is 65. What is

. the average score of the other two?

(A) 50

“(B) 45

(©) 40
(D) 35

Q110

8% ey af & HEIROT T W 5 ay 8
Z1.800 1 AT & W T e i
gTd BT |

(A) 720

Qlll

Ql12

(B) 750
(C) 630
(D) 675

10% @1 aiffe dwgfg e R 2 a9t @
v T300 & fae W wa @ o arell
s @ TR @ A @ e
(A) % 60.50

(B) T60

(C) T61.50

e 3R Ao 71 8 1 3 & Ui # HRIGR
§ ¥ amn o1 ¥ & Faw fear, wg
BB AT B 918 gErd o U1 YT AT
3 ) 12 wEET & WaHE W YR AR
fAfe gamr 3 # 4ic ¢ o Bl U
5 : 4 81 W Badl ffes A e #€ET o

®) 6>
© 53
(D) 6%

Q113

5 fganfdfal gRT uTa ST BT 3fiAd 55 €|
o 5 il # & 9 &= Rl
&1 3T 3 65 & | 3 &1 R &1
3T 3fh @ 87

(A) 50

(B) 45

(€) 40

(D) 35

[=h nly Al



Ql14

Qns'

Ql16

QL7

Ql18

- Mental Aptitude, IQ & Reasoning Ability

Select the option that is related to the third
term in the same way as the second term is
related to the first term.

82:64::92:7

(A) 81

(B) 90

(C) 49

(D) 100

lf‘MAT"leR’ can be coded as *AMTTRE’,
then how would you code ‘LENGTH?
(A) HTGNEL

(B) ELGNHT

(C) ELNGHT

(D) ENLGHT

If *METHOD’ can be coded as ‘EMHTDOQO’,
then how would you code ‘PRACTICE’?

(A) RPACITCE

(B) RPCAITEC
(C) RPCATIEC
(D) RPCATICE

In a code language if MANGO is written as
OGNAM, then what will be the code for
APPLE?

(A) APLPE

(B) APPEL

(C) ELPAP

(D) ELPPA

If ‘CHANTING® can be coded as
‘HCNAITGN’, then how would you code
‘PINCHING?

(A) IPNCHIGN

(B) TPCNIHGN

(C) IPCNHIGN

(D) GNIHCNIP

Q114

\

S fAdhed ol U= HN Wl AR U | ST
TE A Faid & fore dve @ T ug Ugal
qg | Heafdd ? |

82:64::92:7

(A) 81

(B) 90

(C) 49

(D) 100

afe @re war §, ‘“MATTER® @ ‘AMTTRE’
® wy A fa@r o1 Goar & g
‘LENGTH® @ o yar fordi?

A) HTGNEL
(B) ELGNHT

(C) ELNGHT
(D) ENLGHT

16-4fe ats wr & *METHOD® &t

0l
AHTDO‘EﬁWﬁWG{TW?,m

Q117

Q118

| a9 ‘PRACTICE’ &I fbd uoR fordi?

(A) RPACITCE
(B) RPCAITEC
(C) RPCATIEC
(D) RPCATICE

gfe HIe w9 § MANGO &1 OGNAM &
w9 # foren wnar @ | APPLE &1 s
ypR forgr sy

(A) APLPE

(B) APPEL

(C) ELPAP

_(,E/P ELPPA

afy @s 97 & ‘CHANTING® &1
‘HCNAITGN® @ &9 # for@r o Haar 8
dl, 39 ‘PINCHING’ & &9 foredi?

(A) IPNCHIGN

A8) IPCNIHGN

(C) IPCNHIGN
(D) GNIHCNIP



Q119

Q120

Q121

QI22

Speaking to Kamala, Rajesh said “My mother
is the only daughter of your father”. How is
Kamala related to Rajesh?

(A) Mother

(B) Aunt

(C) Wife

(D) Daughter

M is the sister of N, R is the niece of M and
T is the mother of R. How is N related to T?
(A) Brother

(B) Daughter

(C) Husband

(D) Nephew

Maya is Gopal’s wife. Preethi’s husband,
Naresh has a sister, Jaya and a brother, Gopal.
How is Naresh related to Maya?

(A) Father-in-law

(B) Son

(C) Son-in-law

(D) Brother-in-law

Which of the following numbers in the Venn
diagram shows the soft cotton shirt?

N
(=)

Q119

Q120

QI21

o) sme
(D)

Ql22

HHAT A 41T PR GY 0T 1 bET WA H
amuad fiar & g I8 87| SHAT b
IEEL L g ey 27

(A) At

(B) 3

@© wl

(D) ¥

M, N & 984 2, R,Maﬁ’m‘ﬁﬁ’l?ﬁ‘aﬂ{‘,R

AT 2| N BT TH @y ey 87
(A) g
(@) a&

(D) WGy,

. T @ T ¥ 1 N @ oy Ry B
TE qE Sgl AN M | T B
HRT ¥ T %6 o

(A) B
B) de1

T 9 AR # P W Freferfiaa e
Herm G B B AR el 8?

11 b

O sog~
A Lucknow
[ Cotton__
QO shirt

(A) 6
© 9
(D) 7



Q123 Find the suitable option for the given Venn

diagram.

. (A) Family, husband, wife
(B) Peacocks, crow, cocks

(C) Cows, figures, lions
(D) Cats, dogs, frogs

Q124 What does the number 3 in the Venn diagram

below describe?

(A) A cake which is not soft

(B) A soft cake which is made of chocolate

(C) A soft cake which is not made of
chocolate

(D) A soft chocolate

Q125 Which of the following numbers in the Venn

diagram represents a warm and rainy day?

)
Ly

[] chil

(0 Foggy

O Rainy Day

[] wamm
(A) 6 B) 7
©€) 5

(D) 4

Q123

Q124

YT O SR W Suged fAeed @1 age
|

((a))wRar, ofd, oeh

(B) HR, BN, T
(C) T, =, IR
(D) Rfeerai, o, dow

fA=fafea 49 sms = =< : ===
fareur we &°

YN

(Y E=

Ny o o o 78 &

Q125

(B) diwele | §9[T AT TRA BH

(C) %9 @ Gl dfdhoic & a1 adn 791
g
(D) U -RH didele

TRgd 99 o # Frefafaa # 4 @ @
Wl S RH iR gvardl fea @
yfaffta s 87
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Q126

Q127

Q128

Q129

Q130

Qi31

Which of the following options best suit the
Venn diagram given in the figure?

0O
O

(A) English, Tamil, Hindi
(B) Women, mothers, doctors
(C) Passenger, bus, train
(D) Pollution, air, water

Select the odd one out among the following:
(A) 9876
(B) 8765
(C) 5432
(D) 7653

Which word does NOT belong with the
others? 3
(A) Square

(B) Pentagon -

(C) Hexagon

(D) Angle

Which word does NOT belong with the

others?

(A) Sitting
(B) Crying
(C) Standing
(D) Sleeping

Which alphabet is NOT similar to the others?
(A) A
B)U
© D
DO

Which word does NOT belong with the
others?

(A) Earrings

(B) Bracelet

(C) Bangles

(D) Spectacles

Q126 Wﬁaﬁﬁmﬁiﬁﬁﬁﬁﬁﬂwﬁm

39 ARG g W e IugE 87

OO
oo

i
[(a) stieh,_aiier, =1 _|
(B) Afder, ®, Saey
(C) ardl, 39, YS!
(D) wguvl, €41, Tl

Q127 Prefflaa & & @9 TG B TEAr

P |

(A) 9876
(B) 8765
(C) 3432
(D) 7653

Q128 fyefrfag § W P a1 el 99 A WEH

TR W 87

(B) Sl
(C) sl

(D) B

Q129 freffad § @ O1F W I 99 I e

&) vadr 87

A) 841
(C) @l <&
(D) |

Q130 Preforfad 3§ & P &1 v Ay | B 87

(A) A

B) U-

(D) @

Q131 frefafed § @ TF W UG T § TEH

& @l 87

(A) Wﬁ‘\
(B) ®
© 5

(D) 93~

Fad ol N Vg



Q132 Which word does NOT belong with the
others?
(A) Edges
(B) Sides
(C) Faces
(D) Vertices

Q133 Choose the correct mirror image of the
object given from the choices, when the
mirror is held at A B:

A
B
Answer figure
A B C D
(A) A (B) B
©) C (D) D

Q134 Identify the odd pair:
(A) Husband-Wife
(B) Father-Daughter
(Ef) Uncle-Niece
(D) Mother-Son

Q135 Consider the four members of this set:
Coconut, Groundnut, Mustard, Corn
Which of the choices below can be a part of
the above set?

(A) Cashew nut
(B) Cocoa

(C) Olive

(D) Almond

el e 27
)
o™

(A) fpamr
Q133 TwR fam # ¥ ufafew 9 wgam W w9

Q132 fr=ifaRed # ¥ 9\ w1 veg 9w W W=y
(B) oIy
(C) wds
fepedl gdvr 31 fJT 17 g @ 9W ABT®
TG S

@ TTCCTLUYTTTTS B

S fa=

A B > D
(A) A (B) B

© D
Q134 fr=faRad = gl & & aTd g™ At

0 T

B o
¢ — AT
(D) "TF!?IT—Ha

QI35 FY @ WF & IR Wel W & &
Ry Ty fawcdi d | B SR D WE B
3T B Fhal &7
A) d

(B) Bl

(©) v

(D) 91ery_
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Q136 Which of the following options has the
correct water image of the picture given

below?

’
@D

9

© ¢

ECA

Q137 Select a suitable figure from the answer
figures that would replace the question mark.

Q

foer

GV

[}

8

\._/\\8 N

@~V

/’@\.
[

f‘\/_

S

’“‘M_»f

L YN IV = .
19) i B
% Jh A

ON

TH
RE

Fl 2
VE -

(A)
SE
®) | VE
N
FO
©€) ] UuR
TE
D) N

Q136 ﬁvwmﬁﬂﬁﬁaﬁa%ﬁqw

ﬁazﬁraa—;ﬁ%ﬁﬁi-’rmﬁm%?

Q137 “?" @ TN TR 3 del IUYRT fadea—foa

T FIT DN |

TH
RE
E

Fl
VE

i

ON
E

sl
(A) X
- SE
@) %
N

FO

©) | Uur
TE

(D) N

o
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Q138

Q139

A-AS

Select a suitable figure from the Answer
Figures that would replace the question

mark.

—

Qa ©

© @ . (D)

The first two figures in the given Problem
Set bear a relationship. Select that figure
from the Answer Set which bears the same
relationship to the third figure in the Problem
Set as the second one bears to the first in
the Problem Set,

Problem Set:

1 2 3 4
Answer Set:

A B c D
(A) A (B) B
(ONe (D) D

27

Q138

Q139

7" B NI W A dTel SUga ey
BT GIT B | '

(©) 0 . (D)

R & e RE-de § yyw o R
aH 7 waRd & | S fRF-de 4 ¥ 99
RE &1 99 ¥ o wwar ¥ 3 d
o A o o yeRr @ w=RE & Ry
JoR ¥ g e & gEv RF v R R
g &

R fE—ve
|
AVAYISIR
|
1 | k] 4
Jaw foa—-9e
A B c D
(A) A (B) B
(©€) C (D) D
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Q140 Select a suitable figure from the Answer
Figures that would replace the question

mark.

(%

(A)
B
A
©) ‘

Q141 The first two figures in the Problem Figure
bear a relationship. Select the figure from
the Answer Figure which bears the same
relationship to the third Problem Figure as
the second bears to the first Problem Figure.
Problem Figure:

Vimlkall?

1 2 3 )

Answer Figure:

Alelle

A

B

(B) Figure B
(D) Figure D

(A) Figure A
(C) FigureC

Q140 7 @ I TR 3 dTel SUGHR fapen—fas

BT TAT PR

(A) __J

Q141

(B)

(©)

=

@

i & v fE-dc # yem & R
e 3 wafa &) Swr fom de # 9§ 99
R @7 9g DY S AR ¥ B R
fra 9 O3 oW yeR W Wt 8

Yo 9 0 Ve @7 g e vea e |
FEfd 2 ‘
Wﬁl—ﬂ'—@t‘d:
W '\7 kq | 9 )
1 2 3 4
I e
~lE S [ﬁl
A B C D
(A) REA (B) fa=B
() fImC (D) =D
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(



Q142

Q143

A-AS

Read the statements and identify the logically
correct conclusion from the given
information.

Statements:

“The beginning of heath is sleep™ — written

on a hospital wall
Conclusion:
)

I1) Sleep is the medicine for all the diseases.

If one sleeps, all his diseases get cured.

(A) Only conclusion | follows
(B) Only conclusion Il follows
(C) Either conclusion 1 or 11 follows

(D) Neither conclusion [ nor IT follows

Consider the statements to be true even if

they seem to be at variance from commonly

conclusions logically follows from the two
given statements, disregarding commonly
known facts.

Statements:

Some crows are lions.

All lions are panthers.

Conclusions:

1. Some crows are panthers.

2. No lion is a crow.

(A) Only conclusion I follows

(B) Only conclusion II follows

(C) Neither conclusion I nor I follows

(D) Both, conclusions I and 1T follow

known facts. Decide which of the given

29

Q142

Q143

e AV 4= |
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I T T @), o et &

AR & Ho BT AT BN AN 99 Fpui

B U P Gl afhe ©7 A YT A

HeHd 8l

H:

"FqRed P geRia AT W a8l ¥ —arudre

@l AR wR forRar g3 U G|

ﬁ-ﬁaﬁé:

I ufe oI A 2, o 99w A Sia
& o & pm 56

[l g Wi Avf & gar &

(A) R® | wEwa &

(B) R 11wewd &

(C) araY 1ar Il Wewd 21

D) AR A& (1777 =

2
:'-'\;

P oy =
19y %N B

AR B/B AT Fx T=S

TG T Bl d A (§HE AR F S

HIT P IR A IO fp B Ay
aifds R At vu d el & v==
gl

BY:

BB B AR B |

wﬁ:ﬁ%ﬁﬁﬁw

ey

. 3B BT 94 &)

Il. @1 W IR Blar & &)

(A) R fresd | wewa &)

(B) R e 11 wewa &1
(C) AT ar 13w =1 & 11 vewd 2|
(D) 13RI 1 &) Tena 8
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Q144

Ql45

Q146

Consider the statements to be true even if
they seem to be at variance from commonly
known facts. Decide which of the given
conclusions logically follows from the
statements.

Statements:

1) Most teachers are boys.

2) Some boys are students.

Conclusions:

.I) Some students are boys.

[1) Some teachers are students.

(A) Only conclusion ] follows

(B) Only conclusion Il follows

(C) Both, conclusions I and 11 follow

(D) Neither conclusions I nor 11 follows

Select the option that is rclated to the foutth
term in the same way as the first term is
related 1o the second term.

7:50::7:101

(A) 5

(B) 10

< n

(D) 38

Select the option that is related to the third
term in the same way as the second term is

related to the first term.

' 258:80::369:

(A) 162
®) 18
() 90
(D) 54

30
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Q145

Q146

41 @p T Al Frepd fag g §1 Y
e il Gk CRE
AT e g 8, el freest @
e Y AR g8 AT b @i P
afsE sl PRea su § FoAl § 8T
&

HI:

wﬁ’f%ﬁ@%%t

FO D B B

frepy

. @B B A8 ¢ |

I @ fwe o 2

@)Wfﬁmﬁlm;
(B) fp Frepy 11 §84d

(C) 1R 11 < & wend 8
(D) A dr (3R AT & 1 s g

Bﬂﬁmwwaﬁﬁﬁ%ﬁ@tvﬂw
aﬁﬁw@ﬁ%mm‘sﬁmq—q’q&%
ye Q et 81

7:50::7:101

(A) 5
(B) 10
(©) 1

@38

T frecd @1 aad R ol dIeN 9e 4 S
< O e ¥ for ave § gEe e vEd
g weRd B

258:80::369:7

(A) 162

(B) 18

(©) 90
(D) 54
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/
47 What will come in place of the blank = =< QU7 Fr=fafed ww % R e &1 off a9

serics? 3‘:1]?\,35, 63, ., 143,

3,15,35,63, 143, (A) 89
(A) 89 (B) 78
(B) 78 (€) 99
©) 99 (D) 121
(D) 121
[48 Find the next letter in the series: | Q148 f=iafed &9 + ofTa &R & 949 FY:
S — EENE.
A) Q (A) Q
(B) R (B) R
©) S €) S
(D) A (D) A
149 Identify the number that follows the series: Ql49 fawafaRed &7 + arveh dwar 6 yga™
017 Jobriya.in=t ,
(AY18) "\ BU“Q@.___
(B) 28 (A) 18
(©) 27 ) (B) 28
(D) 29 ©) 27 )
(D) 29

1150 Insert the correct option in the blank below: Q150 fr=ifeiRad Ram W+ 4 wd few e

ALESKIl, __ ,C29 B
(A) 817 ALES,KIl, __ ,C29
(B) S19 \ (A) S17
(©) M13 €@
(D) M17 (C) M1i3
' (D) M17
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